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SUrfpeMriy 1

Luwifi wdpnno phy L yupnitwynmd $niuyghwih npnpdwu mhpnypp.

F)=2 e

-3

. Rwull wdpnne phy L yupniuwynd $niuyghwyh wpdbtputiph pugune-
pInLUpN.

. Gumul) Pmuyghwh wdbuwdbsd wpdtpn.

f(x)le3 100 +10x — x” :
2

. Qi f(x)= 9813+22 b g(x)=+x +% $niuyghwitiph qpuphly-
X+
utiph hwwndwu Ytwnh wpughup:

. Gwunuby $nmuyghwyh wdkuwthnpp wipdtipn.
f(x)=16x" —68x* +12x+127:




SUrfpeMriy 2

Luwufi wdpnno phy L yupniuwynmd $niuyghwih npnpdw wmhpniypep.

f()c)=—+\/50—x2 :

1
|x|+ x

. Rwif wdpnne phy E yupmawynd $niuyghugh wpdbtputiph pug-

unipjniup.
f(x)zxxl72—x2 :

. Gwnut) $niuyghwyh wdtivwthnpp wpdtipn.
x'+75

X)=——:
f( ) \/gxz
C Aty f(x)=Vx+3+/2x-1 b g(x)=+/38-x+v29-x Pmulghwib-
nh gpwdhyutiph hwndwu Ytnh opnhuwwnp:
. Gwmuty pmuyghwyh wdkuwdtsd wpdtipn.
f(x)z—x4 +2x° +3x> —4x+23:




QusSulvtivuer

S / Ne 1| 2[3]4]5
Swppbpwy 1] 25 | 101 | 5 | 36 |37
73 10| 9 |27

Swpptipuy 2| 7




